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I
J

[3, 1, 2, 4, 5]K
[2, 3, 1, 4, 5]L
[3, 2, 4, 1, 5]M
[1, 2, 4, 5, 3]N
[3, 2, 1, 5, 4]O
[5, 2, 3, 1, 4]P
[4, 3, 2, 1, 5]Q
[3, 1, 2, 4, 5]R
[3, 1, 2, 4, 5]JS
[2, 4, 1, 5, 3]JJ
[4, 5, 3, 1, 2]JK
[5, 1, 3, 4, 2]JL
[3, 5, 1, 4, 2]JM
[2, 4, 3, 1, 5]JN
[2, 5, 3, 4, 1]JO
[3, 4, 2, 5, 1]JP
[4, 2, 1, 3, 5]JQ
[5, 1, 3, 4, 2]JR
[3, 4, 1, 2, 5]KS
[3, 5, 1, 4, 2]KJ
[4, 2, 3, 5, 1]KK
[2, 1, 5, 4, 3]KL
[2, 4, 3, 1, 5]KM
[4, 3, 2, 1, 5]KN
[2, 1, 4, 3, 5]KO
[4, 1, 2, 5, 3]KP
[3, 2, 4, 1, 5]KQ
[1, 3, 4, 2, 5]KR
[2, 1, 4, 3, 5]LS
[5, 2, 3, 1, 4]LJ
[1, 4, 5, 2, 3]LK
[3, 2, 1, 5, 4]LL
[1, 5, 3, 2, 4]LM
[2, 4, 3, 1, 5]LN
[5, 3, 4, 1, 2]LO
[3, 1, 2, 4, 5]LP
[5, 3, 2, 4, 1]LQ
[5, 4, 3, 2, 1]LR
[3, 4, 5, 1, 2]MS
[1, 5, 2, 4, 3]M J
[5, 3, 2, 4, 1]
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